HEKETE

BEE & &indk Y MMDALIE Tm @I AP
#EKEE HEFS kavyZ  EH (FP)

(t) (m) (m) (kg/cm*)
1965 39.3 -2.13 255
2015 40. 1 -2.14 255
2065 40.8 -2.14 255

HEIKIR S 3.5 knots
¢
%9 5.0 knots
Bl & #&im & WRDALE 20m 7 AP
HEKEE MEZ5E N=EY E£A (FP)
(t) (m) (m) (kg/cm*)
2015 53 -2.14 257
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HEKEE (2-1/2)
* ¥ E H
EE (EHLHE ) ... ... 101.000 m
] ( i ) 17.400 m
‘(B ) 8.200 m
* S K B OB
B ic3
5 i
= I SRV N HEK-BEEMMEER
HEKE=E 2015.0 t
MID. G 9.40 m
i = 3.80 m
[N =R -2.142 m
KSwvw I ES 0.0 m
EAREKED 4.70 m/sec
ETHEDFE 11.45 t/m2
EAE K B 119.83 t
* B4 O+ L E ( AMRIKE )
MR E & 0.0605
EE&HMS DB
BE®m (a) 1.200 m
BEHR (m) 1.200 m
BEAEIW () 1.200 m
vy N -— (¢") 0.000 m
BEBRREMAEFROERE (Im) 0.500 m
* B E &
BmEMmMAPROERH (le) 70.500 m
g X & 2.000 m x 1
* B B
k& (1) 88.000 m
g x &% 2.000 m x 1
5 ( h) 1.200 m
tE 0.6000
18 £ 0.0605
* i B R & B
7E 1T BB B 53.07 m
RAXERRE 257.0 t
B2 7k ( weE ) -1.51 m
(Ba ) 4.60 m
GoM 4.02 m
*x & & F B
7E 17 BB B 77.95 m
B2 7K (M =) 0.22 m
(M E) 3.60 m
( g ) 1.91 m
k1) A 3.38 m
* iy & & 1t
7E 17 BB B 127.50 m
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E XK T HEEFMR (2-2/2)

HEKES 2015.0 t

MID. G 9.400 m

- = 3.800 m

FE 1T R B B2 7K (m) =) S VIR TP VT E A (t/m2) E 5

(m) L 481 & Bl (t) ( t-m) L 481 & Al (m/sec)
0.0 -4.72 1.39 30.8 104079 9.55 35.54 0.00
5.0 -4.42 1.69 64.9 101443 10. 04 34.28 2.38
10.0 -4.12 1.99 123.6 97106 10. 74 32.25 3.30
15.0 -3. 81 2.30 203.6 91370 11.54 29.62 3.92
20.0 -3.51 2.60 297.6 84794 12. 37 26.67 4. 34
25.0 -3. 21 2.90 448.5 75103 13.01 22.59 4.60
30.0 -2.91 3.20 610.4 64815 11.717 21.67 4.70
35.0 -2.60 3.51 805.3 52974 10. 32 20. 30 4. 66
40.0 -2.30 3.81 1013.9 40493 9.75 17. 31 4. 49
45.0 -2.00 4. 11 1282.5 25783 9.97 11.26 4. 21
50.0 -1.70 4. 41 1565.7 10322 12.96 1.08 3. 81
55.0 -1.38 4.53 1768.9 0 0.00 0.00 3.32
60.0 -1.04 4. 35 1813.4 0 0.00 0.00 2.87
65.0 -0.70 4.16 1860.5 0 0.00 0.00 2. 47
70.0 -0. 36 3.96 1914. 3 0 0.00 0.00 2.12
75.0 -0.02 3.75 1975.8 0 0.00 0.00 1.80
80.0 0.32 3.54 2042.9 0 0.00 0.00 1.51



E K H B (2)
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HEKEE (D) 2015.0 | ;5ERE®E (m) 53.1 | ;B7EREEE (m) 78.0 | B2 Kk | (W -4.72
MID. G (m) 9.40 | £ &£ (t) 257.0 | B2 Kk P 0.22 (m) (S) 1.39
K G (m) 8.00 FrAY S (m) | -2.14| (m (A) 3.60 | £ A () 9.6
BMoas m 3.80 | GoM (m) 4.02| FUUL  (m) 3.38 | (t/m2) | (S) 35.5
AE—F (m/s) 4.7 | A TIPMT (t-m) 14429 | ipfREIEE TOERE (0. Sknots) (m) ... 127.5




o K B & F h 5 &

W L E Bk [T &% A x S PPHOAL®D [A xS x n
(ORD) (m) (m*%2) f2i& (ORD)
A P. 1.390 0.00 0.50
1/2 1.084 1.20 2.00 2.40 9.50 22. 80
1 0.779 2.18 1.00 2.18 9.00 19.62
11/2 0.473 2.00 2.00 4.00 8.50 34.00
2 0.168 0.74 1.00 0.74 8.00 5.92
2 1/2 -0.138 0.00 2.00
3 -0. 443 0.00 1.50
4 -1.054 0.00 4.00
5 -1.666 0.00 2.00
6 -2.2717 0.00 4.00
7 -2.888 0.00 1.50
71/2 -3.193 0.00 2.00
8 -3.499 0.00 1.00
8 1/2 -3.804 0.00 2.00
9 -4.110 0.00 1.00
9 1/2 -4.415 0.00 2.00
F.P. -4.721 0.00 0.50
9.32 82. 34
F A (t )= ZA XS xLPP/B30 Xx 1. 025 = 32.16
F Db (m)= ZA XS xn/ XA XS XLPP/10 = 89.231

BEMGEYZFOLETHOKFEREE

( 89.231 - 7.000 ) x Cos «

82.081

=
#it
op
R
S
9.|_

YDFDLETHOKITEERE

( 177.500 - 89.231 ) x Cos «
88.108



o K B & F h 5 &

BEMEBE  50.0m

W L E Bk [T &% A x S PPHOAL®D [A xS x n
(ORD) (m) (m*%2) f2i& (ORD)
A P. 4.415 0.00 0.50
1/2 4.109 5.91 2.00 11.82 9.50 112.29
1 3.804 17.37 1.00 17.37 9.00 156. 33
11/2 3.498 27.86 2.00 55.72 8.50 473.62
2 3.193 35. 43 1.00 35. 43 8.00 283. 44
2 1/2 2.887 38.82 2.00 17. 64 7.50 582. 30
3 2.582 38.50 1.50 57.75 7.00 404. 25
4 1.971 30. 32 4.00 121.28 6.00 727.68
5 1.360 19. 80 2.00 39. 60 5.00 198.00
6 0.749 9.44 4.00 37.76 4.00 151.04
7 0.138 0.54 1.50 0.81 3.00 2.43
71/2 -0.168 0.00 2.00
8 -0.473 0.00 1.00
8 1/2 -0.779 0.00 2.00
9 -1.085 0.00 1.00
9 1/2 -1.390 0.00 2.00
F.P. -1.696 0.00 0.50
455.18 3091. 38
F A (t )= ZA XS xLPP/B30 Xx 1. 025 = 1570.75
FDb(m)= ZA XS xn/ XA XS XxLPP/10 = 68595

BEMGEYZFOLETHOKFEREE

( 68.595 - 7.000 ) x Cos «
61.483
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YDFDLETHOKITEERE

( 127.500 - 68.595 ) x Cos «
58.797



fin B & T o & F

BESRmIYDELE—A Vb

B E B OB EE W BEIEE®IELYED WxSG

(m) (t) F TOKFEREH (SG) (m) (t-m)
0.0 2015.0 117.815 237397
5.0 2015.0 112.806 227304
10.0 2015.0 107. 797 217210
15.0 2015.0 102. 788 207117
20.0 2015.0 97.7178 197024
25.0 2015.0 92.769 186930
30.0 2015.0 87.760 176837
35.0 2015.0 82. 751 166743
40.0 2015.0 17.742 156650
45.0 2015.0 72.733 146557
50.0 2015.0 67.724 136463
55.0 2015.0 62.714 126370

BEERHZMOELNAERBT SHEBE = 117.82 m BER

BEE&RKELEYDELE—XA 2V F

B OE B OB # A1 (B) BIEE®&in&LYZFD B*SB

(m) (t) F T OKFEREH (SB) (m) (t-m)
0.0 32.2 88.108 2834
5.0 66.9 85. 531 5726
10.0 126. 4 83.236 10519
15.0 206.9 80.273 16612
20.0 301.5 76. 850 23168
25.0 452.6 74.944 33918
30.0 614.6 71.749 44099
35.0 809.4 68.648 55566
40.0 1018. 1 65.067 66242
45.0 1286. 6 62.273 80123
50.0 1570. 8 58. 797 92355
55.0 1889.3 55.186 104261

MOELABECRGEZBEBT AAICHEFENBESIHBICTHERXETREELAE L,




RADHL AR =

_HIgIERAR Y ZhNBEH

BHE (1/2)

Wx AG-Bx AB

W-B

ARDEEIZE Y FTEENHEXEZFERAL. FBEREZHET 5.

1 2
* —  AS<C AR — AS OE\ESE
3 3
R
Pm= -
2b x A
AR
Pf =2Pm (2-3 —)
AS
AR
Pa = 2Pm (3 — -1)
AS
2 2
* —  AS< AR — AS DHFE
3 3

* 0 <

EhfHmES A7 =3( A8 - AR)

R
Pm =
2b x A’
Pf =0
Pa = 2Pm
1
AR= —— 1S D&
2
R
Pm =
2b x AS
Pm = Pf = Pa
1
AR —— 1S DiFE
3
EhnmEKEE A7 =3AR
R R
Pm = =
2b x A’ 6b x AR
Pf = 2Pm

Pa =0
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= v 25 [11] [] o — E
_RiiIRIRR Yy FCHANDFEHEE (2/2)
R
Pm =
Ls
LR
Pf =2Pm (2 -3 )
Ls
LR
Pa =2 Pm (3 -1)
Ls
BEHEE MEEK | K 5B RADHDn | BEDOE BE& &
BHEED Pm Pt Pa
(m) o R LR b =R =
Ls

0.0 1.390 1984. 2 52.45 1 2.00 88.00 22.55 9.55 35.54
5.0 1.692 1950. 1 52.02 1 2.00 88.00 22.16 10.04 | 34.28
10.0 1.995 1891. 4 51.34 1 2.00 88.00 21.49 10.74 | 32.25
15.0 2.297 1811. 4 50. 44 1 2.00 88.00 20.58 11.54 | 29.62
20.0 2.600 1717. 4 49. 37 1 2.00 88.00 19.52 12. 37 26.67
25.0 2.902 1566.5 47.94 1 2.00 88.00 17. 80 13.01 22.59
30.0 3.205 1404.6 46. 14 1 2.00 84.00 16.72 11.77 21.67
35.0 3.507 1209.7 43.79 1 2.00 79.00 15. 31 10. 32 20. 30
40.0 3.810 1001. 1 40. 45 1 2.00 74.00 13.53 9.75 17. 31
45.0 4.112 732.5 35.20 1 2.00 69.00 10.62 9.97 11.26
50.0 4.415 449.3 22.97 1 2.00 64.00 7.02 12.96 1.08






